SERVICE MANUAL OF THE ESPRESSO COFFEE MACHINE “5KES100...ARTISAN” KitchenAid
The component locations are indicated in the exploded diagram
Tables 01 "Base Parts" and 02 Unit parts.
1. Before carrying out any maintenance or fixing operations, make sure that the machine is not
connected to the mains and that the boilers are cold. 

2. Disconnect the power cord (pos.1 - tab.02) from the socket (pos.44 - tab.02) on the back side and
replace the water reservoir (pos.41 - tab.01). 

3. Remove the cup guard assembly (pos.1 - tab.01) by pulling it upwards. 

4. Remove the upper lid (pos.3 - tab.01) by unscrewing the three Allen screws M4 (pos.2 - tab.01)
and the screw (pos.21 - tab.01) on the back side. 

5. Remove the steam knob (pos.36 - tab.01) by pulling it out from the steam valve assembly shaft
(pos.23 - tab.01). 

6. Remove the two front bezels (pos.14 and 32 - tab.01) by unscrewing the two screws M4 (pos.34
and 66 - tab.01), making sure to hold the spacer (pos.33 - tab.01) of the fixing screw (pos.34 -
tab.01) of the steam bezel. 

7. Remove the switches (pos.13 - tab.01) of the coffee and steam bezels. 

8. Disconnect the connector of the MOV board (pos.48 - tab.02) that is fixed to the back rod on the
left side (pos.5 - tab.01) by means of a tie. 

9. Remove the coffee pod trim and the steam pod trim (pos.39 and 40 - tab.01) by unscrewing the
four Allen screws M4 (pos.2 - tab. 01). 

10. To remove the upper housing (pos.4 - tab.01), unscrew the three rods M6 (pos.5 - tab.01). 

11. Separate the upper housing (pos.4 - tab.01) by slightly pulling it upward and disconnect the two
temperature gauges (pos.6 and 7 - tab.01) from the chromed ring nuts (pos. 8 - tab.01) with a
light clockwise movement from the inner. 

12. Pull the three rods M6 (pos.5 - tab.01) upwards, and replace the MOV board (pos.46 - tab.02). 

13. Remove the feelers of the coffee and steam gauges (pos.6 and 7 - tab.01), cut the plastic tie,
separate the clamp and pull out the feeler of the coffee boiler gauge, located in the upper, central
part of the boiler. To pull the feeler of the steam boiler gauge out, first loosen the screw M4 (pos.3
- tab.02). 

14. Before disconnecting the wiring, note every single connection in case the electrical diagram is not
available. 

15. To replace the pump (pos.31 - tab.02) or the overpressure valve (pos.33 - tab.02), disconnect the
water suction pipe in transparent silicon (pos.29 - tab.02) from the pump inlet fitting (pos.30 -
tab.02), and disconnect the two teflon pipes (pos.27 and 35 - tab.02) from the overpressure valve
(pos.33 - tab.02) by unscrewing the two brass nuts by means of a wrench no. 10. 

16. To replace the hot water switch (pos.15 - tab.01), pull it backwards by slightly bending the tangs. 

17. To replace the steam microswitch (pos.18 - tab.01), unscrew the two screws (pos.17 - tab.01). 

18. To replace or access the steam valve (pos.23 - tab.01):
- remove the aluminium cam (pos.20 - tab.01), by unscrewing the screw M3 (pos.65 -
tab.01)
- disconnect the teflon pipe (pos.16 - tab.01) from the valve, by unscrewing the brass nut by
means of a wrench no. 10.
- remove the valve supporting plate (pos.22 - tab.01), by unscrewing the two screws (pos.11
- tab.01)
- unscrew the front screw M4 (pos. 21 - tab.01). 

19. To access the steam boiler Per (pos.37 – tab.02):
- Before disconnecting the wiring, note every single connection in case the electrical
diagram is not available.
- Remove the teflon pipe (pos.18 - tab.01) located in the boiler upper side by unscrewing the
brass nut by means of a wrench no. 10, or remove the flange (pos.36 - tab.02) by
unscrewing the two Allen screws M6 (pos.9 - tab.02). This operation also allows the
replacement of the OR gasket (pos. 6 - tab.02).
- Disconnect the teflon pipe (pos.35 – tab.02) from the pump, by unscrewing the brass nut
by means of a wrench no. 10.
- Unscrew the steam thermostat T.145°C (pos.28 - tab.02) counter-clockwise by means of a
wrench no. 17. When replacing the thermostat, make sure to add some conductive paste
on the flange in contact with the boiler.
- To access the boiler internally for cleaning or to replace the OR gasket (pos.10 - tab.02),
unscrew the four Allen screws M6 (pos.9 - tab.02) located on the boiler flange.
- To replace the OR gaskets (pos.22 - tab.02) of the overpressure valve (pos.40 - tab.02) or
of the solenoid valve (pos.39 - tab.02), unscrew the 2+2 Allen screws M5 (pos.23 - tab.02).
- To remove the boiler bottom (pos.43 - tab.02), unscrew the three Allen screws M5 (pos.37
- tab.01) that fix the plate (pos.38 - tab.01). Then, lift the plate up and unscrew the four
Allen screws M5 (pos.14 - tab.02), making sure to hold the two insulating gaskets (pos.13 -
tab.02). 

20. To access the coffee boiler (pos.8 – tab.02).
- Before disconnecting the wiring, note every single connection in case the electrical
diagram is not available.
- To remove the upper flange (pos.2 - tab.02) where the feeler of the coffee gauge is located,
unscrew the two Allen screws M6 (pos.9 - tab.02). This operation also allows the
replacement of the OR gasket (pos.6 - tab.02).
- Disconnect the teflon pipe (pos.27 - tab.02) on the water inlet fitting by unscrewing the
brass nut by means of a wrench no. 10.
- Separate the discharge pipe in black silicon (pos.26 - tab.02) by means of the clamp
(pos.25 - tab.02).
- Unscrew the coffee thermostat (pos.7 - tab.02) counter-clockwise by means of a wrench
no. 17. When replacing the thermostat, make sure to add some conductive paste on the
flange in contact with the boiler.
- To access the boiler internally for cleaning or to replace the OR gasket (pos.10 - tab.02),
unscrew the four Allen screws M6 (pos.9 - tab.02) located on the boiler flange.
- To clean the shower (pos.18 - tab.02) and shower-holding plate (pos.16 - tab.02):
- unscrew the central screw M5 (pos.19 - tab.02) to replace the shower. and
- unscrew the two Allen screws M6 (pos.17 - tab.02) to replace the shower-holding
plate.
- To remove the group gasket (pos.15 - tab.02) use a screw-driver with a thin point.
- To replace the OR gaskets (pos.22 - tab.02) of the coffee solenoid valve (pos.24 - tab.02)
or the water inlet fitting (pos.45 - tab.02), unscrew the 2+2 Allen screws M5 (pos.23 -
tab.02). 

21. To remove the ON/OFF switch and the coffee switch (pos.9 – tab. 01), pull them backwards by
slightly bending the tangs. 

22. To remove the relay (pos21 - tab.02) unscrew the two screws (pos.20 - tab.02). 

23. To remove the base (pos.47- tab.01) from the middle bodywork (pos.43 - tab.01) lay the machine
down on its back side and unscrew the six Allen screws M5 (pos.37- tab.01). 

24. When the machine is set down, remove the discharge pipe (pos.26- tab.02) for cleaning or for
replacement, by pulling it out from underneath, after it is separated from the coffee solenoid valve. 

